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1. Write your Roll No. on the -fop immediately on receipt
of this quéstion paper.

2. Attempt any five. questions. -

3. All questions carry equal marks.

4. Useofa simple calculator is allowed.

5. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper. '
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1. (a) True or false. Explain

(i) Charitable donations made by businesses
are included while. measuring Gross
Domestic Product (GDP) using the income

appr—oaéh. k

-(11) Interest pa'id-_by the Government on national
debt is not included in GDP, but is included

in Private Disposéble Income. (6)

(b) (1) Define “money multiplier”.

(i) What is the money multiplier for an economy

(13 )
where “0” measures the reserve ratio and

(1.4

¢” measures the fixed proportion of money
. that pe,op!e hold in the form of currency
~(derivation is not required).
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(1) “An increase in "0 and/or an increase in
"o reduce(s) the money multiplier..” Do
you apgree. Explain, (6)

(¢) “The higher is the responsiveness of demand
for real balances to changes in the rate of
interest the more effective is an increase in
Government expenditure in raising output.” Do
you agree in the context of the IS-LM model.
Explain using diagrams. (6)

e 0 o g R S T

2. (a) The higher is the income ‘v'elocity of money, the
lower is the fraction of nominal income that people

desire to hold as money. Explain using the Quantity
, ~ Theory of Money. - o (6)

z (b) Explain how the folloWing transactions would. enter
' India’s Balance of Payments Accounts. Give the
offsetting transactions too,

(i) A company located in India imports
machinery worth of ¥5 crores from
Germany and transfers ¥5 crores to the
German Company’s (Exporter) account.

K
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(ii) A Non-Resident Indian working in United

Kingdom sends ¥5 Lacs to her family
“residing in Jammu. | (6)

P.T.O.
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(c) Explain what is the liquidity trap? Consider an

cconomy that is experiencing o liquidity trap,
discuss how monetary and fiscal policics will work
in this economy using diagrams. (6)

Given the following information

C = 0.6[(1-t) Y]
t = 0.20
I = 1000 — 801

G = 2000

L= 03Y

M/P = 900

(Income (Y), Disposable Income (YP) Consumption
(C), Investment (I), Government expenditure on goods
and services (G), (M/P) real money supply and (L)
demand for real money balance are measured in

billions and the rate of interest (i) is measured as a
percentage) '

(i) Define the IS curve and arrive at the equation
of the IS line,

(i) Define the LM curve and arrive at the equation

- of the LM line.
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(iii) Find the equilibrium income and rate of interest.

(iv) Which special case does the LM line represent?

Explain.

(v) Find the new equilibrium income and rate of

- interest if the money supply reduces to 810.

(vi) Find the new equilibrium if the government

S =1+(S

expenditure increases to 2500 (with the real

money supply at 900). . (18)

4. (a) Consider the “usés-of-saving identity”

govt) +CA |

Where, S, = Private Saving
I = Investment

Sgovt = Government saving

. CA = Cﬁrrent Account Surplus

Explain how investment, Government dis-saving
and Current account surplus represent uses of

private saving? ‘ (6)

| (b) The following equations describe an economy

where C, I,-G etc. are being measured in billions.

P.T.O.
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C = 1000+ 0.8(Y-T)
T =100
I = 1000
G = 4000

(i) Find the equilibrium output and the budge:
surplus of the Government.

(ii) Calculate the equilibrium output and the
budget surplus if an income tax is imposed

at the rate of 20%.

(iii) Find the full employment budget surplus if

full employment output is 25000, with an

~ income tax of 20%, government expenditure
of 4000 and lump-sum taxes of 100.

(iv) Caiculate the cyclicalncomponent of the
Budget. : . (12)

5. (a) “If the government increases purchases of
goods and services in_ the Classical Model and
finances this expenditure by borrowing,
employment and output remains unchanged.
However, the rate of interest rises and
consumption expenditure and investment
decline.” Do you agree? Explain using diagrams.

(6)
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(b) Given that

Money Supply (M®) = $ 1000 and income ($Y) =
(ai $50,000. The rate of interest (i) is measured as a

‘ 0.1($Y
percentage. Money demand (MD)= (,$ )
O i
1) Find the equilib-rivum rate of interest and
show it diagrammatically.

. (i1) " If the _fate'of interest is 2%, how does the
'system move towards the equilibrium‘?

(111) If the 1ncome increases by $ 60 000 then
- whatis the new equilibrium rate. of 1nterest
N Show it dlagrammatlcally

'(iv)A‘If the income ‘increases by $ 60000 and
the Central Bank does not want the rate
of interest [as found in part (i)] to change,
then by how much should the Central Bank
change the money supply? Illustrate
diagrammatically. - (12)

6. (a) How will an increase in labour supply (outward
shift of the labour supply curve) impact the
Aggregate Supply curve in the Classical Model?

P.T.O.
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What happens to the full employment level of
output and the price level? Explain using Labour
demand and Labour supply as functions of the
real wage rate. (Use diagrams). | (6)

(b) “ds price level rises along the AD curve, the

rate of interest also rises” in the context of the
IS-LM model. Do you agree? Explain while giving
L H - (6)

diagrams.

(c) Consider the fOlloning information-on'ba'se year

output and prices and current years’ output and
prices | g :
BASEYEAR | CURRENTYEAR
Goods | Quantity | Price (%) | Quantity | Price (%)
A | 20 100 25 100
B 45 200 45 350
C 30 300 35 | 250

- (i) Calculate nominal GDP in the currentlyfﬁar

it s gnd the base year. Calculate the rate of
o growth,
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(ii) Calculate the real GDP in the current year
and the Base year. Calculate the rate of
growth in the real GDP.

(iii) By what percentage does price level
change from the base year to the current
year 1f you use the GDP deflator
(approximate to two decimal places)?

(6)
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